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Answer all Questions
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b) What would be the total number of ATP molecules generated from one molecule of
Palmitic acid if all the acetyl coenzyme A generated was oxidized via the tri

carboxylic acid (TCA) cycle? (Explain all your calculations).

2. Explain the following:
a) Fate of Pyruvate in the living cells.

b) Formation of urea in human beings

3. a) Outline the Citric acid (TCA) cycle.
b) Explain how the Pentose Phosphate Pathway can supply ribose-3-phosphate for the
synthesis of RNA.

4,  Write a brief account on the following:
a) Polysaccharides in plants
b) Glycolysis
¢) Lipidsin cells
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